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T2 X HE (m?) OjoHCH = (M EH)
EX| 1 701-7 363.7
EX| 2 701-8 363.7
=3 727.4 9,840,000
R = 2WX|, 727.4m E 3 220.048
2o X9 3B LHtF=AHKXA X = oH
ZA|X|7} 701-7 : 6,039,000(2020.017| &), 701-8 : 6,039,0009(2020.017|&)
E2xH ChAl 2% 30M =2 QIF
EX| YA qety
x| M X
2) 29 s
g x| =3 HE (m?) OjOlCH = (H )
N 24
HE 1 701-7, 701-8 60,000
= NP ES 241.05
=37 265.05 60,000
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T = T AR H 1
Heff = 9,900,000,000
FEA 459,067,074
SMrT= 39,600,000
AR SR peal = 8,315,000
7efH| & dAEETTR 2,054,000
I ESTESIOND) 11,000,000 A XE, HEAE
7|Ef H[E 18,750,000 Aretate|e=g
e 8 a4 538,786,074
g A 10,438,786,074
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